FLOE BOAT LIFT WHEEL KiITr
FOR VSD 6000 THRU 10000
ASSEMBLY INSTRUCTIONS

KIT P/N 5171-05200-00

Instruction P/N 611-05200-00
Issued 2/7/22

Sheet 1 of 3

DOCKS & LIFTS

Tools Required
-(2) 9/16" Sockets/Wrenches
-Tape Measure
-Torque Wrench

© Manufactured by:
Floe International Inc.
48473 State Hwy. 65
McGregor, MN. 55760



Floe Boaf Lift Wheel Kif

P/N 511-05200-00
Kit Includes:

O

(2) Spacer, Polyethlyene - 2.375"
P/N 007-00006-00

(2) Boat Lift Wheel Kit Spindles
17.750"
P/N 002-02091-00

(2) Clamp, Lift Wheel Kit Male 7.25"
P/N 002-04280-00
For VSD 6000 and 7000 Liftts

sasmeams rom (1177 WAL [T (TGrgre))
BOARD AN 007.11830-00
UPDATED 7/23/09 @( w
rlr rlr P%w'l m-w
Ll
(I
|1 | | P
Ll L 0-00020-00
e
(1) Hardware Kit
P/N 511-04234-00 [
sy, A PN
! \ "E ! A .H _ | "‘E ===
= K b= )
L -b,, i o Aol

( ) 4) Plastic Tire AII’TIghT
P/N 010-06002-00

Sheet 2 of 3

(2) Clamp, Lift Wheel Kit Male 7.25"
P/N 111-00455-00
For VSD 10000 Lifts

(2) Clamp, Lift Wheel Kit Female 7.25"

P/N 002-04281-00
For VSD 6000 and 7500 Lifts

(2) Clamp, Lift Wheel Kit Female 7.25"
P/N 111-00456-00
For VSD 10000 Lifts



5’9’ J 2 Slide the clamps together over the frame. Insert the 3/8" bolts into the bolt
holes on clamps from the outside of the lift and start the 3/8" nylock nuts.
Slide the spindle through the large hole in the clamp. Position the clamp
assembly so that it is 17" from the corner post as shown in Fig. 1. Torque the

3/8" bolts to 35 fi/lbs.

Outside of Lift

S’GP 22 On the outside of the lift slide on a wheel and a 2 1/2" stainless steel flat
washer, then insert a spindle clip into one hole in the spindle and pull on clip
until it snaps into the opposite hole in spindle. From the inside of the lift,
slide a PVC spacer, wheel, then a 2 1/2" stainless steel flat washer over the

P o Inside of Lif spindle. Insert a spindle clip into one hole in the spindle and pull over on clip
//,,///// 3/8" Nylock Nut until it snaps into opposite hole in spindle. As shown in Fig. 1. Repeat for
7 each set of wheels.

WARNINGS. It is important that you raise the lift cradle at least 2 feet when transporting

the lift in or out of the water. This will prevent the wheels from hitting the side

cradle beams, which would prevent the wheels from turning freely. As shown
in Fig. 2.

Corner Post

Spindle

Important: Raise cradle 24" minimum to prevent

Fig. 1

interference with the wheels when transporting.

Spindle Clip

Sheet 3 of 3



	611-05200-00Sheet 1 of 3 (1).pdf
	611-05200-00Sheet 2 of 3 (1).pdf
	611-05200-00Sheet 3 of 3 (1).pdf



